
1 Measuremen without Head!
2 Measurement of Complete Axle

Doop Swift, 165mm Mounting
(Design might vary)

908050/l/r, black
PS Classic buckle left/right
L = 18cm
909024, black
Fixation Screw M4, 13mm1

940418, black
Hinge Screw 
Ø 23mm, L = 9mm1, M6
incl. Anti Rivet 908052, black

940391, black
Buckle Receptor
909024, black
Fixation Screw M4, 13mm1

940429, black
Strap for Doop Flap
940428, black
Assembly Knob

908052, black
Time Buckle
940377, black
Strap L = 19cm / 21cm

900594/l/r, black
Universal Flap II left & right

Wheels
max. 110mm
Bearings
608 Standard
Spacer
Ø 8mm, L = 10,25mm

940374, silver
Short Double Axle
for Wheel Assembly
Ø 8mm, L = 31mm2, M6

940368, silver
Screw for Assembly of Brake
M5, L = 6mm1

940303/l, black
HABS Brakepad (big)
940366
Fixation Screw 
M6, L = 13mm1

940361, silver
Long Double Axle
for Brake Assembly
Ø 8mm, L = 50mm2

Unity 1 pc. Alu Frame
- 255mm / 3x 110mm
- 165mm Mounting
- Mounting Screw  
M6, L = 13,5mm1

909025, black
Fixation Screw M4, L = 9mm1

909026, black
Fixation Screw M4, L = 6mm1


